PR Received 9 - 15 February 15 Offices Supplies & Consumble Parts Post Dated 16 February 15
Serial | PR No. °°‘g':t‘:“t Item Code PR Line Description PRQty | Unit Buyer B:iﬁ’ EMAIL ADDRESS PR Status RFQ Cloing Dated
1 | 11501049 | 12-Feb-2015 | STA9999999 CUPLING 2.00| Each MR. AEK SIRIMUANGKHALA BSP AekS@ssi-steel.com INCOMPLETE 27-Feb-15
2 | 11501050 | 12-Feb-2015 | STA9999999 BOLT 6.00| Each MR. AEK SIRIMUANGKHALA BSP AekS@ssi-steel.com INCOMPLETE 27-Feb-15
3 | 11500860 | 10-Feb-2015 | CONZZ29428 ANION EXCHANGE Pl‘)EESNIl'I\‘N\?Ig}"I’EiX MARATHON MSA 6.00| Pack MRS. ANCHALEE PIKKANESUAN BSP Anchalee) @ssi-steel.com INCOMPLETE 27-Feb-15
4 | 11501033 | 10-Feb-2015 | CONZZ05810 SOCKET HEAD CAP SCREWS M16-2.0x80 mm. 50.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT @ssi-steel.com INCOMPLETE 27-Feb-15
5 | 11501058 | 12-Feb-2015 | CONZZ08028 BOLT HEX.HEAD(CLASS 8.8) M24-3x120 MM 50.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT @ssi-steel.com INCOMPLETE 27-Feb-15
6 | 11501087 | 12-Feb-2015 | CONZZ08029 BOLT HEX.HEAD (CLASSS.8) M24-3x140 mm. 10.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT @ssi-steel.com INCOMPLETE 27-Feb-15
7 | 11501087 | 12-Feb-2015 | CONZZ08417 BOLT HEX.&NUT NYLON INST.M24-2x120 (CLASS 10.9) 51.00|  Set MRS. CHUTIPA TEANGTUNG BSP ChutipaT @ssi-steel.com INCOMPLETE 27-Feb-15
8 | 11501016 | 13-Feb-2015 | CONZZ18223 | GRINDING WHEEL TYPE 7 FOR G1-4 DIA.915x152x508 mm. 5.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT @ssi-steel.com INCOMPLETE 27-Feb-15
9 | 11501068 | 12-Feb-2015 | CONZZ19091 BOLT HEX.HEAD (CLASS 10.9) M30-2.0x160 4.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT @ssi-steel.com INCOMPLETE 27-Feb-15
10 | 11501018 | 10-Feb-2015 | CONZZ20082 NYLON INSERT LOCK NUT ~ M16-2 150.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT @ssi-steel.com INCOMPLETE 27-Feb-15
11 | 11501120 | 13-Feb-2015 | CONZZ21060 SOCKET HEAD CAP SCREW (M16-2x90mm. #CLASS 12.9) 50.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT @ssi-steel.com INCOMPLETE 27-Feb-15
12 | 11501122 | 13-Feb-2015 | CONZZ21060 SOCKET HEAD CAP SCREW (M16-2x90mm. #CLASS 12.9) 145.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT @ssi-steel.com INCOMPLETE 27-Feb-15
13 | 11501016 | 13-Feb-2015 | CONZZ29192 | GRINDING WHEEL TYPE 1 FOR G5-6 DIA.915x152x304.8 mm. 3.00| Each MRS. CHUTIPA TEANGTUNG BSP ChutipaT @ssi-steel.com INCOMPLETE 27-Feb-15
14 | 11501032 | 10-Feb-2015 | CONZZ09080 POWER MALE PLUGS IP67 63A2P+E 220V. H-02-03(2181) 5.00| Each MR. EKKAPONG THONGDEE BSP | EkkapongT@ssi-steel.com INCOMPLETE 27-Feb-15
15 | 11501032 | 10-Feb-2015 | CONZZ12230 POWER MALE PLUGS IP44.32A2P+E 220V(H-01-04)21013 5.00| Each MR. EKKAPONG THONGDEE BSP | EkkapongT@ssi-steel.com INCOMPLETE 27-Feb-15
16 | 11501014 | 10-Feb-2015 | CONZZ25245 | PROFIBUS L2 PART #81448 SIZE 1x2x0.64 mm3 "HELUKABLE" | 1,000.00| Metres MR. EKKAPONG THONGDEE BSP | EkkapongT@ssi-steel.com INCOMPLETE 27-Feb-15
17 | 11501006 | 9-Feb-2015 | CONZZ30692 LAMP HALOGEN 12V 55W H3 1.00| Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Feb-15
18 | 11500880 | 10-Feb-2015 | CONzz31753 | 772Ut (GABLE FLAS:LIjN?l:;:“ 5332:400 . w035 . 25.00| Each MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Feb-15
19 | 11501048 | 12-Feb-2015 | STA9999999 | INFRARED HEATERS qu UN-H17 L=500 650 W 220V 2.00| uNIT MR. EKKAPONG THONGDEE BSP EkkapongT @ssi-steel.com INCOMPLETE 27-Feb-15
WITCH Tau  UN 500 MM.
20 | 11500509 | 11-Feb-2015 | CONAZ30260 MICRO NICE BIO3 MEX RP4 HEAVY OIL,GREASE CLEANING 2.00| DRUM MISS JARIYAPORN JANTHAWEE BSP | iarivapornja@ssi-steel.com INCOMPLETE 27-Feb-15
21 | 11500559 | 11-Feb-2015 | conzz20174 | T'RE (FRONT) SIZE stg'lffé;g)ﬁff'\"”s” FORKLIFT MODEL 2.00| Each MISS JARIYAPORN JANTHAWEE BSP | iarivapornja@ssi-steel.com INCOMPLETE 27-Feb-15
22 | 11500559 | 11-Feb-2015 | conzz2017s | TIRE (REAR) SIZE G'SO'IOF/DSé%g_KI%MATSU FORKLIFT MODEL 2.00| Each MISS JARIYAPORN JANTHAWEE BSP | iarivapornja@ssi-steel.com INCOMPLETE 27-Feb-15
23 | 11500826 | 10-Feb-2015 | CONZZ22271 INSULATION BOARD TH.25x900x600 MM 60.00| Each MISS JARIYAPORN JANTHAWEE BSP | iarivapornja@ssi-steel.com INCOMPLETE 27-Feb-15
24 | 11501100 | 12-Feb-2015 | CONZZ22271 INSULATION BOARD TH.25x900x600 MM 60.00| Each MISS JARIYAPORN JANTHAWEE BSP | iarivapornja@ssi-steel.com INCOMPLETE 27-Feb-15
25 | 11501099 | 12-Feb-2015 | CONZZ28515 PLASTIC REFRACTORY  80CS 11.20 Imfoenr;a' MISS JARIYAPORN JANTHAWEE BSP | iarivapornja@ssi-steel.com INCOMPLETE 27-Feb-15
26 | 11500509 | 11-Feb-2015 | CONZZ29081 | NOZZLE COPPER GASKET PHP 48-XXX DIM.38.5x44x2.75 mm. 400.00| Each MISS JARIYAPORN JANTHAWEE BSP | iarivapornja@ssi-steel.com INCOMPLETE 27-Feb-15
27 | 11500509 | 11-Feb-2015 | CONZZ29082 NOZZLE COPPER GASKET PHP 27-XXX DIM.21x26x2 mm. 200.00 Each MISS JARIYAPORN JANTHAWEE BSP | iarivapornja@ssi-steel.com INCOMPLETE 27-Feb-15

Page 1 of 3




PR Received 9 - 15 February 15 Offices Supplies & Consumble Parts Post Dated 16 February 15
Serial | PR No. °°‘g':t‘:“t Item Code PR Line Description PRQty | Unit Buyer B:iﬁ’ EMAIL ADDRESS PR Status RFQ Cloing Dated
28 11500509 | 11-Feb-2015 | CONZZ29083 NOZZLE COPPER GASKET PHP 34-XXX DIM.26x32x2.3 mm. 400.00 Each MISS JARIYAPORN JANTHAWEE BSP jariyapornja@ssi-steel.com INCOMPLETE 27-Feb-15
29 11500509 | 11-Feb-2015 | CONZZ29084 SPRING PIN DIA=3,L=10 mm FOR OIL GUN FN3 Z1-6 2,000.00 Each MISS JARIYAPORN JANTHAWEE BSP jariyvapornja@ssi-steel.com INCOMPLETE 27-Feb-15
30 11500509 | 11-Feb-2015 | CONZZ30298 FLEXIBLE AIR DUCT DIA.12" 6M MAT:FOIL&PVC 2.00 Each MISS JARIYAPORN JANTHAWEE BSP jariyvapornja@ssi-steel.com INCOMPLETE 27-Feb-15
31 11501117 | 13-Feb-2015 | CONZZ06032 PAINT BRUSH 4" 14.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Feb-15
32 11501115 | 13-Feb-2015 | CONZZ06430 ENAMEL PAINT BLUE #705 (3.500 LT.) 27.00| GALLON MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Feb-15
33 11501116 | 13-Feb-2015 | CONZZ09604 EPOXY E-5 STEEL FILLER 2.00 Set MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Feb-15
34 11501118 | 13-Feb-2015 | CONZZ11794 TINNER AAA (12 LT) 100.00 Pail MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Feb-15
35 11501063 | 12-Feb-2015 | CONZZ13846 RUBBER SHEET 1000x6000x3 MM 2.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Feb-15
36 11501119 | 13-Feb-2015 | CONZZ14173 BRONZE WIRE BRUSH 5 1/2" LENGH WOOD HANDLE 29.00 Each MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Feb-15
37 11501064 | 12-Feb-2015 | CONZZ28627 WELDING ELECTRODE"GEMINI"DIA.3.2 AWSE309LMO-16 20.00| Kilograms MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Feb-15
38 | 11501034 | 12-Feb-2015 | CONZZ31708 "“‘“’”'“Z”ICi%'ﬁ;ﬁﬁ'%i;go( fs/iTcE}gdasgsTM' pisc 2.00 Pack MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Feb-15
39 11501045 | 12-Feb-2015 | STA2000259 qjmad 24.00| Bottle MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Feb-15
40 11501044 | 12-Feb-2015 | STA2001023 dhenaywmaildnefia 24.00| Bottle MRS. MONTHA CHUMBOON BSP MonthaA@ssi-steel.com INCOMPLETE 27-Feb-15
41 11500471 | 11-Feb-2015 | STA2000784 | imdssduniinuivdutamuazlfiifans auia 700x750x980-1040 11.00 Each MR. PADUNGKIET TAERUNGRUANG BKK PadungkietT@ssi-steel.com INCOMPLETE 27-Feb-15
42 11501055 | 13-Feb-2015 | STA2000004 NAME CARD AW wuy 2 & 200.00 Each MISS PAON SEEBAMRUNGSAS BKK PaonS@ssi-steel.com INCOMPLETE 27-Feb-15
43 11501089 | 12-Feb-2015 | CONAZ13658 FILTER DONALDSON P/N P171580 18.00| PIECES MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-Feb-15
44 11501020 | 10-Feb-2015 | CONZZ14172 BELLOW FOR STEERING DWG.002570 2.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-Feb-15
45 11501009 | 10-Feb-2015 | CONZZ29987 BELLOWS FOR HYD.CYL.STEERING DWG.MMDDD004011 4.00 Each MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-Feb-15
46 11501021 | 10-Feb-2015 | CONZZ31239 |HIGH SPEED STEEL SLITTING SAW BORE 1/4" SIZE 1"x1/32"x50T 11.00| PIECES MR. PHAIBOON ONCHAWIANG BSP PhaiboonO@ssi-steel.com INCOMPLETE 27-Feb-15
47 11501065 | 12-Feb-2015 | CONZZ15241 CLAMP 1 1/4"-2" P/N 5P2230 4.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Feb-15
48 11501077 | 13-Feb-2015 | CONZZ20983 BATTERY SWITCH 24V FOR FANTUZZI 4.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Feb-15
49 11501066 | 12-Feb-2015 | CONZZ30562 FLEX.HOSE 1"x0.60 M. DIN 20022 PART 4 (MS84) 1.00 Each MISS PHONNAPAT SAKHAN BSP phonnapatsa@ssi-steel.com INCOMPLETE 27-Feb-15
50 11501080 | 12-Feb-2015 | CONAZ00003 COTTON RAGS DIM'ISXQGSSC;/'B'AVS)EIGHT 1KG.=17du (25 500.00| Kilograms MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
51 11501059 | 12-Feb-2015 | CONZZ09232 COTTON GLOVE 5,000.00 PAIR MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
52 11500469 | 11-Feb-2015 | CONZZ30216 CHEMICAL CARTRIDGE SERIES CA-710 "SHIGEMATSU" 80.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
53 11501125 | 13-Feb-2015 | CONZZ31793 aowaddinihndl auie 5"x8" 3.00| Kilograms MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
54 11501125 | 13-Feb-2015 [ CONZZ31794 aowaddinihndl auie 6"x9" 3.00| Kilograms MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15

Page 2 of 3




PR Received 9 - 15 February 15 Offices Supplies & Consumble Parts Post Dated 16 February 15

Serial | PR No. °°‘g':t‘:“t Item Code PR Line Description PRQty | Unit Buyer B:iﬁ’ EMAIL ADDRESS PR Status RFQ Cloing Dated
55 11501125 | 13-Feb-2015 | CONZZ31795 aawaadnihadl wuie  15"x20" 3.00| Kilograms MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
56 11500555 | 11-Feb-2015 | STA2000784 | imdszduniinuivdutiauuazlfiifans auia 700x750x980-1040 5.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
57 11500557 | 11-Feb-2015 | STA2000784 | imdssduniinuivdutamuazlfiidnts auia 700x750x980-1040 6.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
58 11500469 | 11-Feb-2015 | STA2001069 ELASTIC HARNESS FOR RESPIRATOR DR22 "SHIGEMATSU" 16.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
59 11500469 | 11-Feb-2015 | STA2001070 DUST&GAS RESPIRATOR SERIES DR22 "SHIGEMATSU" 120.00 Set MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
60 11500469 | 11-Feb-2015 | STA2001071 MECHANICAL FILTER SERIES P2W "SHIGEMATSU" 170.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
61 11500469 | 11-Feb-2015 | STA4000040 wiuandan-dauda UVEX 9350 10.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
62 11500469 | 11-Feb-2015 | STA4000218 FACE SHIELD VISAGOM Tasonsyalawiin+nseafoniin 20.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
63 11500469 | 11-Feb-2015 | STA4000248 FLIP.UP MELTER SPECTACLESMODEL(A642)winnndusau 20.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
64 11500555 | 11-Feb-2015 | STA4000848 \Add&idu LCM-001 17 3/8"Wx21 3/4"Dx35 1/2" 6.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
65 11500557 | 11-Feb-2015 | STA4000848 \Ad&idu LCM-001 17 3/8"Wx21 3/4"Dx35 1/2" 6.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
66 11500469 | 11-Feb-2015 | STA4006363 HEAT PROTECTIVE GROVE SHORT TYPE (FOR FURNACE) 12.00 PAIR MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15

nsvifomin  (FACE SHIELDS ELVEX FS-15 PC ANSI Z87.1 (SAFETY
67 11500469 | 11-Feb-2015 | STA4006645 | HELMET COMPONENTS) CLEAR SHIELD 8"x15.5x0.078" MOLDED 12.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
CYIINDER PC

fiasaumann  SAFETY ELVEX VB-10 ANSI Z87 (SAFETY HELMET
COMPONENTS : BRACKET ARMS, SLOT ADAPTORS & VISOR

68 11500469 | 11-Feb-2015 | STA4006646 BRACKET) VISOR BRACKET MOUNTS ON TO SAFETY CAPS, USING 12.00 Each MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
SA-29/31/93 ADAPTOR OR WITH HM-20/25/60/80 MUFFS
69 11501046 | 12-Feb-2015 | STA9999999 umimsoge 30.00 box MISS PITTAYARAT PHUENPHA BSP pittayaratph@ssi-steel.com INCOMPLETE 27-Feb-15
70 11501000 | 10-Feb-2015 | CONZZ31783 TURNING TOOLHODER TYPE STGCL2020K16 "SECO" 1.00 Each MR. SIRATEE TIENSIRI BSP sirateeti@ssi-steel.com INCOMPLETE 27-Feb-15
71 11501000 | 10-Feb-2015 | CONZZ31784 PDC INSET TYPE TCMW110204F-L1 GRADE PCD20 "SECO" 2.00 Each MR. SIRATEE TIENSIRI BSP sirateeti@ssi-steel.com INCOMPLETE 27-Feb-15
72 11501074 | 13-Feb-2015 [ STA1000484 wily 1" 2.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Feb-15
73 11501074 | 13-Feb-2015 | STA1000485 wily 3" 10.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Feb-15
74 11501074 | 13-Feb-2015 | STA1000517 wily 2" 2.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Feb-15
75 11501052 | 13-Feb-2015 | STA1004200 TONER CARTRIDGES Q7553X 3.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Feb-15
76 11501137 | 13-Feb-2015 | STA1004200 TONER CARTRIDGES Q7553X 3.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Feb-15
77 11501052 | 13-Feb-2015 | STA9999999 TONER HP LASER JET P1102 CE285A 3.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Feb-15
78 11501137 | 13-Feb-2015 | STA9999999 TONER HP LASER JET P1102 CE285A 3.00 Each MR. SIRICHAI PROMCHAN BKK SirichaiPr@ssi-steel.com INCOMPLETE 27-Feb-15

Page 3 of 3




